
 

D = [1:NT,id_var,ones(NT,1)]; 

D = sparse(rows, columns, values, M, N); 

 

 

WORKING WITH SPARSE MATRICES IN MATLAB (AND R) 
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X = [rows, columns, a* values + b]; 

 

Dc = accumarray(rows,values.*c(columns), M); 
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Dalpha = alphahat(id_var); 

 

 

 
Dy_Xbeta = accumarray( id_var, y-X*betahat, [N 1]); 

 

 
DD =  diag(accumarray( id_var, 1, [N 1])); 

 
DD_inv = diag(1./accumarray( id_var, 1, [N 1])); 

 

 
DD_inv = (1/T)*eye(N); 
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J = [  F

𝐷𝑇 D F
 ] 
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J_Dalpha = accumarray(id_var, F_Dalpha( y, X, Dalphahat; betahat), [N 1]); 

 

 

D  <- sparseMatrix(i = rows, j = columns, x = entries, dims = list(M, N)) 


